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Note: All questions are compulsory. Assume the data wherever necessary.

Q1. Explain the following measurements related to statistical pattern recogmtlon €01 [3 Marks]

1. Variance & :
2. Co-variance

3. Euclidean distance

x\“%‘ ' ¢ ol
Q2. Write a comparison note between Baye’s Classifier and Sug% . Veé t?‘:1\4&1(;h1nf:s CO2 [4 Marks]

escribe the following terms in relation to Ant
- CO2 [3 Marks]

Q3. Using the travelling salesman problem as an example
Colony Optimization:
1. Visibility
2. Evaporation
3. Transition Probability

ted by a fully connected graph. The following tables
f'the graph and the distances between each city (assume the
tric). CO3 [10 Marks].

Q4. Assume 4 cities {A, B, C, D}, which are
represent the pheromone levels on, :;ach

ieromone Levels y Distances
R 60D AlB{C|D
¥ A
B|12
0598 {10 C|10
0.54 | 0.67 118111813

arted its joumey at city A and has travelled to city C. The values of alpha and beta are set to 1,

What is the probability that the ant will travel to city A?

2.+, *What is the probability that the ant will travel to city B?

3. .. What is the probability that the ant will travel to city D? :

4 Assume the ant completes its tour using the route A — C — B —D. What will be the pheromone levels
on each edge once they have been updated? '
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Q5. Consider the following function
f(x) =x3—60=xx?+ 900 «x + 100

where x is a constrained varying between 0 to 31. Using Genetic Algorithm, show the rise in the average
fitness of the population if a constant population size 7 = 4 is maintained. '

Q7. Perform intersection and union fuzzy operation for the given fuzzy set:
= {(0.95,1,),(0.8,2),(0.6,3),(0.55,4),(0.3,5)};
_,.{(0.25 2),(0.5,3),(0.75,4),(0.9,5), (1, 6)}



